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11th Physics (2019 — 20)

(1stQ, #2 Mini Test)

Class No. Name \j;“; M zV e

In calculation problems, describe equations
clearly and systematically enough to show

how to solve the problems. If not enough,

you won't get any points.

East

West

Dock
Gravitational acceleration rate g =9.80 m/s?
The density of pure water o (water) = 1000 kg/m3
The density of steel p (steel) = 8050 kg/m?3
5 pt/question x 10 questions = 50 pt Max 50 pt /[Total 50 pt]
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11thPhysics(2019-20) 1stQ Quiz-2

(1-a) Find A, and A, for the vector A with magnitude and direction

given by A = 3.52 cm and 0 = 46.0° , respectively. P A A,
(Equations) 0
? X A,
Ax = Acond = 362 ol 460 = 2 guer 55 gy e
Ay = Al = 382 s w0 = 2,032 — 2,83 €'t
(1'b) Find B and 6 for the vector B with components B, = 75.56 cm and
B, =6.20 cm.,
{Equations)
Basf Bt v e = | prpie dog = PEER —2 TR E ow
% ""Iav;,('“@j Tl (£22) = 4,4996 — 4, 45"
g e | T . .
(1-a) Answer
Aar =2, ¢85 e
A‘?:‘ 2,53 cau -
(&7.%)
(1-1) Answer
B = 7. § cram
g =447
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11thPhysics(2019-20) 1stQ Quiz-2 N v P

(2) Determine the net of the four vectors,
zzl', §, ¢ and D by using the graphical
method. Find the magnitude of the net
vector.

(Equations)

D

300

(7430) +

"
e
<

\.
b
S
<
~.
oot

I
N
~
N
!
Ao
Py

(2) answer  Draw inside above.
(76 2D

Magnitude:

2l 2
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11thPhysics(2019-20) 1stQ Quiz-2

=
(3) Vector A points in the posjtive y direction and has a
magnitude of 13 m. Vector B points in the negative x
direction and has a magnitude of 34 m.

- — —
(3-a) Find the direction and magnitude of A+ B A
- —
(3-b) Find the direction and magnitude of A— B
— - —
(3-¢) Find the direction and magnitude of B — A B
- - —— .3 x
(a) C= A+8
P, &
| T el .
SR =N 13te3¢® = 34y —> 34
g, P f I = w—.{.g_. . e G o < ™
0 = Lo 3o = Zo.7 /80 ~20) = /59,)
—_—2 5P
=
; -3
(b s
= T
A b ar®
(3-a) Answer
(C) e ] ;
B 36
——
- e .
—A /’ 1EF 7714(-"‘“ pe s el
A;._/
186" +21° = 201" SR
' J‘ é Arq
Stz

4
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(3-c) Answer

346

Vdda

0 .
20| fww /!va.sir‘f"c.»e k2 g
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11thPhysics(2019-20) 1stQ Quiz-2

(4) In Denver, after Halloween, children bring their jack-o’-lanterns to the top
of a tower and complete for accuracy in hitting a target on the ground, as
shown in the figure. Suppose that the tower is 12 m high and that the bull’s
—eye is a horizontal distance of 3.8 m from the launch point. If the pumpkin
is thrown horizontally, what is the launch speed needed to hit the bull’s-eye?

4= 3 §T
v—-;Z:( 2 3 _:r2x/2
3 7, 80

= /. 568

x 3, §
Vems = gl—ri-x 5 2.0 5§
4 1.565 '

— 2,43 (™)

5
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=

12m

\
i
\
\
\
3" \ :
\ i
i 1 .
.
~— 3.8 m J

(4) Answer

243 ™/s
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11thPhysics(2019-20) 1stQ Quiz-2

(5,6) A golfer tees off at an initial speed of 35.8 m/s and at
an angle of 42.0° above the horizontal from a height of 12.0
m.

(5-a) What are the horizontal and vertical components of the
initial speed?

(5-b) How long does the ball take to reach the highest point?
(6-c) What is the maximum height of the projectile from the

R |

1

' O=420°

T =358M/5

ground? The ground is assumed to be flat. el
(6-d) What is the speed of the ball just before it hits the ‘
ground? I
(Equations) | - .
L
(@) s = 358 coaa2.0 = 24, 60 —> 24,5 ™/
Vog = 3682920 = 23 96 — 24,0 "™/s

(‘b") /U:q'*?fw,_?t, ’D‘:‘a‘:o
24,758

2E4
—>fr s = YUY > 2,4¢

3 I8 d
(e) 2 2 )
V- = -298 , Uyme
B - 23 97 _
d = "ixsao0 > Ta 2R
3937 +r2,0=4/,27 —s4r.3
(A),,
6‘7{' - Uo_x'-‘ 26,46 0
N (5-a) Answer
UIJ — Voy = =2 j:{’/;z‘/z.o Horizontal: Qb.b /s
Vertical o2 (,[ O ')M/_g
A= lor? ‘
7"3'—'\} Z/}:;-a - 2'33 (5-b) Answer
B “q R, YLE S
=N 237§ ~2xFPox(-12,0)
= é’ﬂ &,80 — 2(?.4‘% (6-c) Answer
} g/, 3

Ve U = [o040 coper

= 3R PY¥Y —>28 9 (")

(6-d) Answer

&, 7

R
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11thPhysics(2019-20) 1stQ Quiz-2

(7) A ferry approaches shore, moving south with a speed
of 6.5 m/s relative to dock. Boy-A on the ferry walks to
north with a speed of 1.4 m/s relative to the ferry. Whatis

the velocity (magnitude and direction) of the boy relative to
the dock?

West ;"U'- :/ : East
(8) On the same ferry, Girl-B walks to west with a speed of
1.4 m/s relative to the ferry. What is the velocity

(magnitude and direction) of the girl relative to the dock?

(Equations) bi | e | e
~ L 545\""/{; South
?) Uha = Upr * e ”
= ¢ + (- 6,5) Dock
= e S‘r /

Sl s fo s b

(8) 4~ _ 97 T
%Lr N UPF N ?j;:ér

Voaz = Urr = +Urane = —H¥+ 0
Upes = Upey “Urey = O F (=45

UPC—F\[UE&; «Lhey = JCrypr(-65" = 6.649 — 6.6 m/s

U 4 -,/ 6.
0107 ()~ o' (57
= 79,5° =78

(7) Answer

y $. 1 /s b aoutt (202
27°

<f-"}_ ?)

7 30 ‘an(ff ‘?y a.‘-eff {8) Answer
(or/zv g,uzs'f?Ps'gufﬁ) b b /s | e
to 78 Jcm/ﬁ’a;(‘
fots T
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11thPhysics(2019-20) 1stQ Quiz-2

(9) On a calm lake a jet ski-A is moving due north at a speed of 14 : 60.0°
m/s. A motorboat-B is traveling toward 60.0° south from east at a

—z
Al

speed of 12 m/s, as shown in the figure. How does the driver on the
jet ski-A experience the velocity (magnitude and direction) of B? S B
(Equations) T
"
14 m/s \
T 12m/s

Ak = Ah . oo
Z/ﬂ,ﬂ Z/; Z//.; 'A

i

LBA'* Vb - Une =+ 47 tasle” — O

i

(.00
”Eag = Ul;:j - L‘EJ 5 e PP DT (4
g8 F

1

* % -
‘PA = \[Ua,w BAg

U

= 600"+ 2439

2¢ 72 —= 28 (")

0 - L“(ﬁ;:j) L@w (i:iﬁ) = 94,27 —>-7¢

W\

(9) Answer )
25 W/’s

b — buff L’ff Eﬂq—j

(284 )
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11thPhysics(2019-20) 1stQ Quiz-2

(10} In the following figures, a body shown by a rectangle is a mass
Draw all the forces exerted on this body with

of 10. kg, is at rest.

arrows and write their magnitude and names.

W e W(?:/O 9, 8 = F§ (}(/)

(10) Answer

Draw arrows and write the
magnitude/names of forces

inside the figures.

(10-a) Sitting on a desk
[
]

N&wuj‘fﬂ‘-‘?

tenv

o
o
v

Grevi f,v

75N

(10-b) Pushed by a person

/{/a)"tn‘-ﬁfc’f‘ﬂ?
76N

Muscular Force
T 35N
|

e

3¢N

F‘rr'cf‘;‘o’ud// 7?‘5"\""?

Gravify
YR R4

(10-c) Suspended with a string

(10-d) Suspended by a spring

(10-¢) Floating on water

¢5N Bucyant
L
; S ==
" Temsione o L 4]
¢FN J
¥ ?8 N
s
Grav o N
Your opinions
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